Lecture 11

Last time
D Review of smooth optimization
D Molivating Problems
D Proximal operator
D Proximal operator
D Forward - Back ward
D Examples
D Constraints via provincel
D Analysis
Forward - Back ward
Method.
When we have a sum
$$f + h$$
. we have
smooth convex
a natural approximation
 $\Psi_{k}(x) = f(x^{*}) + (\nabla f(x^{*}), x - x^{*}) + h(x)$
Linear approximation
 $\Psi_{k+1} \in argmin \{h(x) + f(x_{k}) + (\nabla f(x_{k}), x - x_{k})\}$
By Lemma A smooth part
 $\frac{1}{V_{k}}(x_{k} - V_{k} \nabla f(x_{k}) - x_{k+1}) \in \partial h(x)$



Constraints via the proximal operator
Suppose we want to minimize
min
$$f(x)$$
 smooth.
converticed
We can capture these problems using
the extended reals
min $f(x) + z_{S}(x)$, $z_{S}(x) = \begin{cases} 0 & xeS, \\ 0 & xeS, \end{cases}$
which matches the template we are considering (smooth + convex).
Lemma: $\operatorname{Prox}_{az_{S}}(x) = \operatorname{proj}_{S}(x)$.
Proof: $\operatorname{prox}_{az_{S}}(x) = \operatorname{argmin}_{z} \{z(y) + \frac{1}{2x}\|y - x\|_{T}^{2}\}$
 $= \operatorname{argmin}_{z} \{uy - x\|_{T}^{2}\}$
 $= \operatorname{proj}_{S}(x)$. \square
Then the Forward - Backward method
reduces to Projected Gradient Descent
 $\chi_{K+1} \leftarrow \operatorname{Proj}_{S}(\chi_{K} - \chi_{K} \nabla f(\chi_{K}))$.



Analysis of FBM We define the Gradient mapping $G_{\alpha}(x) = \frac{1}{\alpha} \left(x - prox_{\alpha} h(x - \nabla f(x)) \right)$ By definition $\frac{1}{n}(x - \alpha \nabla f(x) - x_{+}) \in \partial h(x_{+})$ Then $G_{K_{K}}(x) \in \nabla f(x) + \partial h(x_{+})$ Thus, when $G_{x}(x) = 0 \Rightarrow x = x_{+}$ and - v f(x) E 2h(x) e First order optimality condition. Thus we use $\|G_{\alpha}(x)\|$ as a measure of optimality. Lemma (Descent 2.0): Assume fis L-smooth Then, for all XEIR, $(f+h)(x^{+}) \in (f+h)(x) - (\alpha - \frac{L\alpha^{2}}{2}) || G_{\alpha}(x)||^{2}$

Proof: By Taylor Approximation

$$f(x^{+}) \in f(x) + \nabla f(x)^{T}(x^{+}-x) + \frac{1}{2} \|x-x^{+}\|^{2}.$$
Moreover $\frac{1}{\alpha}(x - \alpha \nabla f(x) - x^{+}) \in \partial h(x^{+})$

$$= h(x) \geq h(x^{+}) + \frac{1}{\alpha}(x - \alpha \nabla f(x) - x^{+})^{T}(x - x^{+})$$

$$= h(x^{+}) - \nabla f(x) \frac{1}{(x - x^{+})^{+}} \frac{1}{\alpha} \|x - x^{+}\|^{2}.$$
Then, taking (i) + (\mathcal{D})
($f + h$)(x^{+}) $\leq f(x) + h(x) - (\frac{1}{\alpha} - \frac{1}{2}) \|x - x^{+}\|^{2}.$
Then, taking (i) + (\mathcal{D})
($f + h$)(x^{+}) $\leq f(x) + h(x) - (\alpha - \frac{\alpha E_{1}}{2}) \|G_{\alpha}(x)\|^{2}.$
Thus, picking $\alpha = \frac{1}{2}$ gives \prod
($f + h$)(x^{+}) $\leq (f + h)(x) - \frac{1}{2L} \|G_{1/2}(x)\|^{2}.$
Linesearch procedures work exactly the
same as before. If you want the details
see Chapter 10 of Amir Back's "First-
Order Methods in Optimization."
Theorem: For any f with L-Lipschitz gradient
and convex h . The iterates of FBM
with stepsize $K_{1/2} = \frac{1}{2}$

$$\frac{1}{T} \sum_{k=0}^{T-1} \|G_{1/k}(x_k)\|^2 \leq \frac{2 \lfloor ((frin)(x_0) - \min(frin) + 1) \rfloor}{T}$$
Intuition
There is an iterate that is approximate stationary

$$\min_{k \leq 1-1} \|G_{1/k}(x_k)\|^2 = O\left(\frac{1}{T}\right).$$
Proof: By DL 2.0

$$\|G(x_k)\|^2 \leq 2 \lfloor ((frin)(x_k) - (frin)(x_{krin})) \rfloor$$
Summing up to T-1 yields

$$\sum_{k=0}^{T} \|G(x_k)\|^2 \leq 2 \lfloor ((frin)(x_0) - (frin)(x_{rin})) \rfloor$$

$$\leq 2 \lfloor ((frin)(x_0) - (frin)(x_{rin}) \rfloor$$
divide by T to get the result []
Theorem For any convex, L-smooth f and
convex h such that $\chi^* \in \operatorname{argmin}(frin)(\chi).$
Then, the iterates of FBM with $\alpha_k = \chi$ satisfies
 $(frin)(x_{krin}) - \min(frin) \leq \lfloor \ln \chi_0 - \chi^* \|^2 - \frac{2}{2k}$

 $(-x) 0 \leq (f+h)(x_{k+1}) - \min(f+h) \leq \frac{1}{2}(\|x_{k}-x^{*}\|^{2} - \|x_{k+1}-x^{*}\|^{2})$

By definition
$$x_{k+1}$$
 minimizes
 $Y_{k}(x) = \int (x_{k}) + \nabla f(x_{k})^{T}(x - x_{k}) + h(x) + \frac{1}{2} \|x - x_{k}^{T}\|$
By Hus 2 P2:
(1) $Y_{k}(x_{k+1}) + \frac{1}{2} \|x^{*} - x_{k+1}\|^{2} \leq Y_{k}(x^{*})$
Using the characterization of L-smooth convex
functions
(2) $(f + h)(x_{k+1}) \leq Y_{k}(x_{k+1})$
Using the convexity f
(3) $\Psi_{k}(x^{*}) \leq f(x^{*}) + h(x^{*}) + \frac{1}{2} \|x^{*} - x_{k}\|^{2}$
Then
 $(f + h)(x_{k+1}) - \min(f + h) \leq \Psi_{k}(x_{k+1}) - \min(f + h)$
 $\stackrel{(3)}{\leq} \Psi_{k}(x^{*}) - \frac{1}{2} \|x^{*} - x_{k+1}\|^{2}$
which establishes (**).

Summing up and dividing by T gives

$$\frac{1}{T} \sum_{k=0}^{1} \left[(f+h)(x_{k+1}) - \min(f+h) \right] \leq \frac{L}{2T} \left(\|x_0 - x^*\|^2 - \|x_1 - x^*\|^2 \right)$$

 $\leq \frac{L}{2T} \|X_o - X^{\dagger}\|^2$

OL 2.0 ensures that the minimum function gop is achieved at K=T-L \Rightarrow f+h(X_T) - min(f+h) $\leq \frac{L ||X_0 - X^*||^2}{2T}$